S S s
L Bipin Nambiar Shiraz Khan Kuldeep Yadav
2 (SBI PO 2018) (SBI Clerk 2018) (SBI PO 2018)

I\

Rajat Saxena Anupam Tyagi
(IBPS Clerk 2018) (IBPS PO 2018)

FRIENDS! ’ ’
WE USED TESTZONE
AND CRACKED BANK EXAMS
b uzusit @ e Fdaa
‘ ‘ HA R AAASE H(D

x A=

IT’S YOUR TURN NOW
TAKE A FREE MOCK TEST

The Question Bank -

N | /
-@ Smartkeeda =~ = 7 .

a



https://testzone.smartkeeda.com/Test/Pricing

Sentence Connectors Questions for Canara Bank PO,

IBPS PO Pre, IBPS SO Pre, IBPS Clerk, RRB Scale | Pre,

SBI PO Pre, SBI Clerk and Syndicate Bank PO

Sentence Connector Quiz 28

Directions: You are required to match statements from columns 1 and 2 and find which of the

following pairs of statement make sense meaningfully and grammatically.

1.

(A)

(B)

(€)

(A)

(B)

(€)

Column (1)

Through this initiative, teachers
at elementary level will be able
to acquire scientific
temperament

In favour of steering users more
towards its Maps,

The mother is about to take her
son

.Only C-E
. Only A-F, B-D

. None of these

Column (1)

It is the bud which lends tea
liqguor a bright-yellowish colour,
unlike

Unlike most app stores, this one
is meant

Lily is ambidextrous

.Only C-E
. Only B-D, C-E

. None of these

(D)

(E)

(F)

(D)

(E)

(F)

Column (2)

Google has shut down its travel
planning app, Trips.

the waves crashing onto the
shore.

and knowledge of other
important educational aspects
and transfer it to students.

B. Only B-D

D. A-F, B-D, C-E

Column (2)

for sellers on the company’s e-
commerce platform.

in so much time it will wilt.

usual leaf-based tea from Assam
which gives brew a black colour.

B. Only B-D

D. Only A-F, B-D




Column (1)

(A) External Commercial Borrowing
is an instrument used in India to

(B) The elephant has been sedated

(C) All these processes can

A. Only B-F
C.Only A-E,C-D

E. None of these

Column (1)

(A) tendon is made up of collagen

(B) Much of the debate in recent
months has been focused

(C) Ithought after what you went

A. Only C-E
C.Only B-D

E. None of these

(D)

(E)

(F)

(D)

(E)

(F)

Column (2)

take a year or more to finish.

facilitate Indian companies to
raise money outside the country
in foreign currency.

mildly burnt taste.

B. Only A-E

D. Only C-D

Column (2)

on the sharp loss of economic
momentum in India.

through, you would want to quit.

fibres with specialized cells.

B. A-F, B-D, C-E

D. Only A-F, C-E
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(A)

(B)
(€)

(A)

(B)

(€)

Column (1)

When done in an orderly fashion,
the tissue is restored

| feel a pain in the back

Those of us who can hear well
may not realize that

.Only A-E
.Only A-E, C-D

. None of these

Column (1)

it is freedom of joint motion that
determines much of

When you’re always fighting
fires, it’s difficult to

The road is under repair

.Only C-E
. Only A-F, B-D

. None of these
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(D)

(E)
(F)

(D)

(E)

(F)

Column (2)

video caption is a blessing from
people with hearing issues.

to normal and no scarring occurs.

pack needed replacement.

B. Only B-F

D. Only A-E, B-F, C-D

Column (2)

turn off the water hose and start
tending the garden.

no smoking sign on the road.

the mechanical efficiency of the
human body.

B. Only A-F

D. A-F, B-D, C-E
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Column (1)

(A) Preferential treatment to EVs has
made it a double

(B) Handset makes hope foldable
phones

(C) Thatis where the treasure is

A. Only A-E
C. Only B-F, C-D

E. None of these

Column (1)

(A) Sluggish global demand and the
US-China trade war

(B) The company has also decided to

(C) He went out on alimb

A. Only B-D
C. Only A-F, C-E

E. None of these

Column (2)

(D) assumed his position.

(E) whammy for conventional car
makers.

(F) will help revive smartphone
sales.

B. Only B-F

D. Only A-E, B-F

Column (2)

(D) update its logo and brand colour.

(E) for they finally met.

(F) are adding fuel to an already
raging fire.

B. Only A-F

D. Only A-F, B-D
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10.

(A) Investors in the company have

(B)

(€)

(A)

(B)

(€)

Column (1)

had to fasten their seatbelts

Tech companies are now making

inroads in live

| want you to have

.Only C-D
. Only B-F

. None of these

Column (1)

The corporate governance
playbook of most companies
mandates

The child wants to go to

New technologies have

.Only A-E
.Only A-E, C-D

. None of these

(D)

(E)

(F)

(D)

(E)

(F)

Column (2)

opportunities that | never had.

with the stock hitting an air
pocket in the short term.

captions that will transcribe
speech into text in real time.

B. A-E, B-F, C-D

D. Only A-F, C-D

Column (2)

spurred a revolution in mobile
payments.

that RPTs ought to be avoided,
unless where absolutely
necessary.

sleeping hours are specified.

B. Only B-F

D. A-E, B-F, C-D
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Correct answers:

Explanations:

1. Checking C-E:
The mother is about to take her son the waves crashing onto the shore.
The sentence doesn't make any sense contextually. The pair C-E is hence invalid.
Checking A-F:

Through this initiative, teachers at elementary level will be able to acquire scientific
temperament and knowledge of other important educational aspects and transfer it to
students.

The above sentence is correct both grammatically and contextually.
Checking B-D:

In favour of steering users more towards its Maps, Google has shut down its travel
planning app, Trips.

The above sentence too is correct both grammatically and contextually.

Option Cis hence the correct answer.

2. Checking C-E:
Lily is ambidextrous in so much time it will wilt.
The sentence doesn't make any sense contextually. The pair C-E is hence invalid.
Checking B-D:

Unlike most app stores, this one is meant for sellers on the company’s e-commerce
platform.

The above sentence is correct both grammatically and contextually.

Checking A-F:




It is the bud which lends tea liquor a bright-yellowish colour, unlike usual leaf-based tea
from Assam which gives brew a black colour.

The above sentence too is correct both grammatically and contextually. Hence, the pair
A-F is valid.

Option D is hence the correct answer.

Checking B-F:

The elephant has been sedated mildly burnt taste.

The sentence doesn't make any sense contextually. The pair B-F is hence invalid.
Checking A-E:

External Commercial Borrowing is an instrument used in India to facilitate Indian
companies to raise money outside the country in foreign currency.

The above sentence is correct both grammatically and contextually.
Checking C-D:

All these processes can take a year or more to finish.

The above sentence is also correct both grammatically and contextually.

Option Cis hence the correct answer.

Checking A-F:

A tendon is made up of collagen fibres with specialized cells.

The above sentence is correct both grammatically and contextually.
Checking B-D:

Much of the debate in recent months has been focused on the sharp loss of economic
momentum in India.

The above sentence is correct both grammatically and contextually as well.
Checking C-E:

| thought after what you went through, you would want to quit.




The above sentence too is correct both grammatically and contextually.

Option B is hence the correct answer.

Checking A-E:

When done in an orderly fashion, the tissue is restored to normal and no scarring
occurs.

The above sentence is correct both grammatically and contextually.

Checking B-F:

| feel a pain in the back pack needed replacement.

The sentence doesn't make any sense contextually. The pair B-F is hence invalid.
Checking C-D:

Those of us who can hear well may not realize that video caption is a blessing from
people with hearing issues.

The above sentence is contextually incorrect because of the usage of the preposition
'‘from' before people. Instead, 'for' should have been used.

Option A is hence the correct answer.

Checking C-E:

The road is under repair no smoking sign on the road.

The sentence doesn't make any sense contextually. The pair C-E is hence invalid.
Checking A-F:

It is freedom of joint motion that determines much of the mechanical efficiency of the
human body.

The above sentence is correct both grammatically and contextually.
Checking B-D:

When you’re always fighting fires, it’s difficult to turn off the water hose and start
tending the garden.




The above sentence too is correct both grammatically and contextually.

Option Cis hence the correct answer.

Checking C-D:

That is where the treasure is assumed his position.

The sentence doesn't make any sense contextually. The pair C-D is hence invalid.
Checking B-F:

Handset makers hope foldable phones will help revive smartphone sales.

The above sentence is correct both grammatically and contextually.

Checking A-E:

Preferential treatment to EVs has made it a double whammy for conventional car
makers.

The above sentence too is correct both grammatically and contextually. Hence, the pair
A-E is valid.

Option D is hence the correct answer.

Checking C-E:

He went out on a limb for they finally met.

The sentence doesn't make any sense contextually. The pair C-E is hence invalid.
Checking B-D:

The company has also decided to update its logo and brand colour.

The above sentence is correct both grammatically and contextually.

Checking A-F:

Sluggish global demand and the US-China trade war are adding fuel to an already raging
fire.

The above sentence is also correct both grammatically and contextually.

Option D is hence the correct answer.




10.

Checking A-E:

Investors in the company have had to fasten their seatbelts captions that will transcribe
speech into text in real time.

The above sentence is correct both grammatically and contextually.

Checking B-F:

Tech companies are now making inroads in live opportunities that | never had.
The above sentence is correct both grammatically and contextually as well.
Checking C-D:

| want you to have opportunities that | never had.

The above sentence too is correct both grammatically and contextually.

Option B is hence the correct answer.

Checking A-E:

The corporate governance playbook of most companies mandates that RPTs ought to be
avoided, unless where absolutely necessary.

The above sentence is correct both grammatically and contextually.

Checking B-F:

The child wants to go to sleeping hours are specified.

The sentence doesn't make any sense contextually. The pair B-F is hence invalid.
Checking C-D:

New technologies have spurred a revolution in mobile payments.

The above sentence is also correct both grammatically and contextually.

Option Cis hence the correct answer.
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